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(b) Customers 
(c) Employees 
(d) Investors 

'-8 A strategy is a comprehensive plan which will NOT include this dimension 
(a) Detcm,ining long term objectives 
(b) A.dopting a particular course of action 

(c) The ends which the management seeks to achieve by its operations 
(d) Allocating resources necessary to achieve the objective 

Vl. The principles of management enhance the understand10g of relationship between 

human and material resources fo1 the ach1evcmcnt of organizational goals. Identify 

the feature of the principles of management being described in the given statement. 

ta) Cause and effect relationships 

(b) Optimum utilization of resources and effective administration 
(c) Formed by practice and experimentation 
(d) Mainly behavioral 

1..,8. This technique of scientific management helps m development of the concept of 
assembly line which 1s widely used in automobile companies these days as well 

Identify the technique. 
(a) Motion study 
(b) Standardization and simpltfication of work 
(c) Method study 
td) Time study 

J). According to this prmc1ple of general management, "an organisation should safeguard 
against abuse of managerial power, but at the same time a manager should have the 

necessary authority to carry out his responsibility" Name the principle of management 

bemg described m the given statement 
(a) Discipline 
(b) Authority and responsibility 
(c) Unity of command 
(d) Unity of direction 

10. Name the concept which explains the manner in which decision-making responsibilities are divided 
among hierarchical levels: 

(a)Organizat1onal structure 
(b) Span of management 
(c)Delegation 
( d)Decentralization 

~ATCH THE FOLLOWINNG BY CHOOSING THE CORRECT OPTION: 

,01 . 
.----=c=--o-:-hm_m_A:-------.---C:-o-:-lu_m_n_B _____ __, 

(i) Can be delegated (a) Accountability 

2 



llltr 

(Ill)( 

ull 
l (I) {h) (II) ( l (111) ( 

I ) {I) h) (11) ' ) 
( I I) ( 

) ( (b) (111) ( ) 

I) ( (111) ( ) 

( olumn \ 
1) <,m I Im 1r 11npl 
11) P n d t 

t I k 
111) n h:p to t p rf rm d an 
hr nolOIJlc 11 ord r 

, '") Numcn 1 Pl 11 

•Hd) (11) (u) (111Hb), (1v) (c.) 

t-)(1) (h). (11) (c) (111) ( 1), (1-.) (d) 

)(1) {b), (11) (cl), (111)-(n) (1\) (c;) 

H (c), (u) ( ,). (111) (d), (1v)- (b) 

fd M 

.'!) This nnnlys,s would rcvc,,I the number ,uid type o t 
\\ orkload analysis 
Brcakevcn onalys,s 
\\ orkforce unolys1s 
Span of management 

\ scrt1on (A) Dclcgnt1on doc me.in abd ' 
Reason ( R) The manngcr no lun 

8 th the stotcmcnt (A) and (R) 

B ch the tntcmcnts (A) und (R) r 

StJtcmcnr (A) 1 correct bul t 11 

Both tntement (A) md (R) r 

.)'i rtu concept of control n 111 

nd up controllm nothm 

r r11icnl poml onuol 
Key re ult rcn 

f na cm nt by ex ptmn 
d 1, vu111on 

Jf St tcm nt 1 ( >nly tho 
n 

Column B 



Stntemcnt II: If any of the parties are not satisfied by the order of State Commission can appeal agau 
such order to the Supreme Court of lnd1a 

(a)Both the Statement 1 and Statement II are true. 
{b)Both the Statement I and Statement II arc false. 
(c)Statcment I 1s trnc but Statement 11 is false 
(d)Statcmcnt 1 is false but Statement II is true. 

J,7 • Assertion (A): The lack of incentives w1thm an organization leads to high rate of employee turnover 
Reason (R) Motivation helps to reduce absenteeism m the organization 

(a)Both the statements (A) and (R) are correct and (R) 1s the nght explanation of (A). 
(b)Both the statements (A) and (R) are correct but (R) 1s not the nght explanation of (A). 
1c)Statement (A) is correct but statement (R) 1s incorrect. 
td)Both statements (A) and (R) arc incorrect. 

J8. Nama Jomed fashion wear company as a design expert. Bemg very creative and enthusiastic ab 
out her work She would initially share her innovative ideas with her supenor Jyotsna. However, over a 

penod of time she realized that Jyotsna never apprecmtes her contribution. She made up her mmd not to 
give any suggestion henceforth. ldentify the type of communication barner being described m the above 
Imes. 

(a) Semantic barrier 
(b)Pc;ychological bamer 
( 1:J) Personal barn er 
(d)Organizational barrier 

19. Which of the following is NOT a demerit of informal organization? 
(a) It leads to spreading of rumors. 
(b) It gives more importance to structure and work. 
(c) it may restrict implementation of changes within the organization. 
( d) It puts psychological pressure on members to conform to group expectations even if they are against the 

interest of organization. I 

, 4o. When Jaskaran Singh applied for the post of Computer teacher in a school in Bhubaneswar, he was asked 
to prepare a power point presentation on a particular topic during selection procedure. Identify the type of 
selection test being mentioned in the above lines. 

(it) Trade test 
(b) Personality test 
(c) intelligence test 
( d) Interest test l 

/ 

~. Real Alliance Ltd. is a well-known cement company in India. It is able to cam adequate revenues to 
cover costs. Its capital base, number of employees and production turnover has increased manifolds over 
the years. The rate of profitability of the business is also creditable. The employees of the Com.Ptn)' _,, 
happy and satisfied with their remuneration, working conditions, promotion policy etc. >4- • 
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morol obligation, l~c co~pany _has taken many initiatives for providing employment to specially ablcd 

persons and promoting literacy m the villages adopted by it 

ln context of the ab~vc case: Identify and explain the vaiious types of objectives of management being 

fulfilled by Real Alliance Ltd by quoting lines from the paragraph. 3 

32-. State any three reasons as to why controlling is regarded as an indispensable function of management. 

3 

OR 

Enumerate any three advantages of Management by exception which is used by manager in analyzing 

deviations. 

23. Vandana Public School had a vacancy of a Mathematics teacher. They were looking for a smart and 

creative teacher having a drive for excellence. An advertisement was given in all leading dailies. Smee 

the response was huge, the school examined all the application forms and rejected the candidates who did 

not have the necessaiy qualifications. Thereafter, a test was conducted to measure the existing skills of 

the candidates. After that it was followed by a formal in-depth conversation with the principal of the school 

and a panel of Mathematics experts. . . . 

Explain the steps that have been performed by Vandana Public School in the process of 1denttfymg and 

choosmg the best candidate. 
3 

24. "Management is both Science and A.rt." Explain this statement in brief. 

OR 

State the basic features of management as a profession. 

1.,,25. Explam the following features of directing: 

a. Directing initiates action 

b Directmg is a contmuous process 

Explafo the following leadership styles· 

a. Autocratic leadership 

, b. Laissez Faire leadership 

OR 

""26. State any four limitations of using internal source of recruitment 

OR 

State any four commonly used sources of recruiting employees from outside the organization . 

3 

4 

4 

.J,7. Suman wanted to purchase a sandwich toaster She checked about the various sandwich toaster::; 

available online and compared the prices so that an mtellJgent and wise choice could be made. Then she 

went to a nearby market to buy the sandwich toaster. Being an informed consumer, she looked for the 

correct standardization mark. The shopkeeper showed her different toasters but was quoting a higher price 

than the price she had checked online. After negotiating with the shopkeeper, she was able to bring the 

price down. As a responsible consumer, she asked for a cash memo, against the amount paid for the 

product and took the toaster home. On opening the package, she found an instruction booklet, which ~he 

read carefully. Then she followed all instructions stcp-by-stt:p and made nicely toasted paneer sandwiche~ 

for her family. 

a. State any two responsibilities, which have been discharged by Suman, besides asking for a cai.h 

memo. 
b. Explain the two rights being discussed in the above case. 4 
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J-8. Pnya 1s a regional manager ofXY7 Ltd She 1s a hardworking employee and is try_in_g_to redu~ewa of resources in her company She has set standards for perfonnance of different activities aod is ensu that targets are met according to these standards with minimal wastage of resources. She has set up CC cameras which helps her to keep a close check on the activities of the subordinates and know how the employees are performing She also rewards the employees with a bonus when these standards arc met. She is trymg her best to ensure a good perfonnance of her team this year through the application of an important function of management. Explain any two benefits of the function of management highlighted above. 
4 

29 . Kuna\ joined as a Shop Level Manager m the Production Department of a Textile Company in the year 2005 Because of his good work, he became the Deputy Production Manager of the Company in the year 2010. He bad Status and Prestige and was well respected by all in the company. On 1st March, 2019. he was promoted as the General Manager of the company. Kuna! was very happy on h1s promotion as now he had become what he was capable of becoming. As a good manager, Kuna! decided to motivate his subordmates, after understanding the Need Hierarchy Theory which is based on various assumptions. He realized that people's behavior 1s based on their needs and the manager can influence the behavior of his Employees by satisfying their needs. 
One of the Assumptions of Need Hierarchy Theory is stated m the above paragraph, identify it and state the other three Assumptions ofth1s Theory. 

4 
._}O. Saurabh Jain set up a telecom business in Nasik, named as 'Ketone', with an ambitious target of reaching out to 90% of the Indian population withm one year. He chose this bus mess on the be)jef that the demand for data services will increase 4 times within the next 2-3 years. To fulfil such an ambitious target, he had to either acquire an existing lelecom business or collaborate or go independent aggressively in the light of tough competition. He assessed the proposals of different companies vis-a-vis earnings per share, tax liabilities, dividends paid, etc. and their future projections, knowing fully well that the projections may change if the country's economic policies get modified. The above paragraph discusses some of the steps of one of the functions of management. By quoting the lines from the above paragraph, explain these steps m chronological order. 

4 31. 
l. Explain the following techniques of scientific management: a. Method study 
b. Time study 
11. Differentiate between contribution made by F.W.Taylor and Henry Fayal on any three basis. 

6 y/../ Roshan is the chief chef of 'Khidmat' restaurant located in the city of Bangaluru. The place is known for its exquisite Mughlai cuisine especially mutton biryani and kababs. All the food is prepared under Roshan's purview. The various activities in the kitchen are initiated in accordance to his instructions. H .. is very clear and specific in issuing instructions to his subordinates in order to ensure smooth working of the department. He personally oversees the method followed by the chefs for preparation of each dish. He misses no opportunity to praise his subordinates for their good work. All his team members feel very happy and satisfied under his direction. He provides constant guidance to them in order to improve upon its taste and presentation and also encourages them to innovate and be more creative in their work. 
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:-i3 Ro,1stnl Cofli:c C'mporntion 1s a coffcchnusc cha111 operating in seven stales of India. Through its 

l'IH:ct1Yc 01gunizat1011,il st1ucturc, 1t hus grown despite pressure from competitors in national market The 
con1pa11y hns a f>un:hnsc ,11\d Production lkpartment, Supply chain management and logistics department, 
Ht ,11\d managcmc11t dcpai 1111cnt 11nd Sales depnrtmcnt ·1 his structure has facilitated operational efficiency, 

as employees become specialists with their own rl'alm of expertise. They could be imparted specialized 

u.,inmg us the focns on limill'd rnnge of slolls. ldent1fy the organizational structure of Roasted Coffee 

Corporate Also state the three advantages of this structure other than those discussed in the above 

parngrnph. 6 

34. finku is a eight yem old boy. As his mother's birthdny was drawing closer he wanted to buy a gift for 
her from his pocket money. So he decided to empty out his piggy bank. lie calculated his total savings as 

Rs. 2500. When he shared his plan with his father he agreed to take him to a nearby mall to buy a gift 

Tinku sclcc1cd n beautiful handbag for his mother worth Rs. 2500 at a store. When Tinku handed over th•: 

money from his piggy bank to the shopkeeper, he refused to accept a five hundred rupees note saying that 

ti is no longer n valid currency. Tinku was very surprised. Then his father explained to him that what the 

shopkeeper was saying is true as that particular type of five hundred rupees notes have been discontinued 

by the government. 
ln context of the above case: 
(a) ldenhfy the concept being discussed in the above paragraph because of which a currency note becomes 

invalid. 
(b) StiltC any three features of the concept as identified in part (a) of the question 6 

-- ----------------------------------------------------xxx------------------------------------------------------
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